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15. listopadu 2010

1 Definičńı obor

Určete definičńı obor funkce (V hranatých závorkách je uvedeno řešeńı):

1. f : y = − 1√
1−x [x ∈ (−∞; 1)]

2. f : y = − 1
2x−5

+
√
x2 + 2x− 15 [x ∈ (−∞;−5) ∪ (3;∞)]

3. f : y = −x2 + 4x [x ∈ R]

4. f : y = 10
x

+ x− 1 [x ∈ R \ {0}]

5. f : y = − 1
x

+ x
x+3

[x ∈ R \ {0;−3}]

6. f : y = x−1
2x2−2x

[x ∈ R \ {0; 1}]

7. f : y = x2−9
x−3

[x ∈ R \ {3}]

8. f : y = x3−1
x2−2x+1

[x ∈ R \ {1}]

9. f : y = 1
x

+ 1
x−1

+ 1
1−x2 [x ∈ R \ {1;−1}]

10. f : y = − 2x
1−2x
− 3x

3x+1
+ 1

1−x2 [x ∈ R \ {1;−1}]

11. f : y =
√

2x− 7 [x ∈< 3, 5;∞)]

12. f : y = − 3√
x+3

[x ∈ (−3;∞)]

13. f : y = 1
7−x +

√
x− 5 [x ∈< 5; 7) ∪ (7;∞)]

14. f : y =
√
x2 + x− 12 [x ∈< −4; 3 >]

15. f : y =
√

2− |x| [x ∈< −2; 2 >]

16. f : y = sinx+ 1
cosx

[x ∈ R \ {π
2

+ kπ}]

17. f : y = 1
sinx−1

[x ∈ R \ {π
2

+ kπ}]

18. f : y = sinx
cosx

[x ∈ R \ {π
2

+ kπ}]
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